\ Questions : 101 to 200

101. Which period in the history of France

is reffered to as the 'Reign of Terror' ?
(1) 1789-1794
(2) 1793-1794
(3) 1793-1804.
(4) 1789:1804

102. Who wrote the book

Contract" ?

"The Social

(1) Montesquieu
(2) dJohn Locke
(3) Rousseau

(4) Abbe Sieyes

103. In 1920 Millitant Guerrilla

Movement in Guden Hills of
Andhrapradesh ﬂnq.ia) was led by :

(1) Alluri Sitaram Raju
(2) Baba Ramchandra
(3) Birsa Munda

(4) Diku and Kanu

104. Who founded the Communist Party

in Vietnam ?

(1) Huyunh Phu So
(2) Phan Boi

(3) Ha Tinh

(4) Ho chi Minh

- NTSE(Level-1) Exam. Nov. - 2016
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105.

106.

107.

108.

109.

When did Muslim League celebrate
the 'Deliverance Day' ?

(1) 23 March, 1940

(2) 22 December, 1939

(3) 24 October, 1939

(4) 16 March, 1940

In which state of India are Gujjar
Bakarwals largely found ?

(1) Rajasthan

(2) Gujarat

(3) Jammu and Kashmir

(4) Maharashtra

The Duma were council assemblies
which were created by :

(1) Lenin

(2) Karl Marx

(3) Trotsky

(4) Tsar of Russia

The first Olympics were held at :

(1) Athens (2) Moscow

(3) New York (4) Berlin

US entered into world war-II due to :

(1) Annexation  of Poland by
Germany

(2) Aerial bombing on London

(3) Japanese attack on Pearl
Harbour

(4) Non payment of reparation dues

by Germany
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110. Who wrote "Khadi is more of a

111.

112.

113.

thought than a cloth" ?
(1) B.G. Tilak

(2) M. K. Gandhi

(3) Sardar Patel

(4) Jawahar Lal Nehru

The very first section of the under
ground train in the world opened
between Paddington and Farringdon
Street in :

(1) Rome

(2) Paris

(3) New York
(4) London

The earliest kind of print technology
was first developed in :

(1) India

(2) France

(3) Greece

(4) China

Select from the following a set of
Kharif Crops only :

(1) wheat, gram, mustard

(2) bajra, jowar, pea

(3) bajra, jowar, maize

(4) arhar, barley, cotton

NTSE(Level-1) Exam. Nov. — 2016
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114,

115.

116.

117,

118.

What is the Longitudinal extent of
India ?

(1) 67°8'E - 92°25'E

(2) .68°7T'E -97°25'E

(3) 68°6'E —98°25'E

(4) 68°7'W —97°25'W
New Moore island lie in :
(1) Gulf of Kachcha

(2) _Bay of Bengal

(3) Gulf of Khambat

(4) Gulf of Mannar

The highest peak in the Western
Ghat is :

(1) Anai Mudi
(2) Doddabetta
(3) Mahendragiri
(4) Nilgiri

In which of the following states is the
Chilka Lake located ?

(1) West Bengal
(2) Odisha

(8) Goa

(4) Tamil Nadu

The average weather conditions of a
place throughout the seasons refers

to:
(1) Cyclone
(3) Weather

(2) Season
(4) Climate

NTSE(Level-1) Exam. Nov. - 2016
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119. According to the census of India-2011

120.

121.

122,

which one of the following states has
highest sex-ratio ?

(1) Haryana

(2) Kerala

(3) Himachal Pradesh
(4) Punjab

In which of the following states is the
Pachmarhi bio-reserve located ?

(1) West Bengal o

(2) Haryana

(3) Punjab
(4) Madhya Pradesh

'Mahe' place of union territory of
Puducherry is situated in which
state ? '

(1) Kerala

(2) Andhra Pradesh

(38) Tamil Nadu

(4) Goa

In which of the following states is
Laterite soil found ?

(1) Karnataka

(2) Haryana

(3) Bihar

(4) Sikkim

NTSE(Level-1) Exam. Nov. - 2016
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123.

124,

125.

126.

e —— —— e

In which of the following states
Koyana multipurpose project is set
up ?

(1) Karnataka

(2) Maharashtra
(3) Andhra Pradesh
(4) Tamil Nadu

In which country the 'slash and burn'

agriculture is known as 'Roca' ?

(1) Mexico
(2) Vietnam

(3) Brazil

" (4) Indonesia

Arthsastra is written by whom ?
(1) Kautilya
(2) Machiavelli

(3) Chandragupta Maurya

(4) Samudragupta

Which of the following does not
figure  in preamble Indian
Constitution ? :

(1) Democratic

(2) Secular

(3) Republic

(4) Religious Justice

NTSE(Level-1) Exam. Nov. - 2016
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127. In which game P.V. Sindhu won the

silver medal for india in Rio
Olympics ?

(1) Lawn Tenis
(2) Badminton
(3) Wrestling

(4) Archery

128. Which in following statement is not
true about President of India ?

(1) President is Constitutional Head
of India.

(2) President presides over the joint
session of Indian Parliament,

(3) President is indirectly elected.

(4) President's tenure is 5 years.

129. Strength of members of Haryana

Assembly is : )
(1) 80 (2) 90
(3) 75 (4) 100

130. Which statement is correct about
money bill in parliament ?

(1) Lok Sabha and Rajya Sabha have
equal powers.

(2) Lok Sabha has more powers than
Rajya Sabha.

(3) Rajya Sabha has more powers

than Lok Sabha.

(4) Lok Sabha has no power on
money bill.
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131,

correct ?

(1) U.P. and Bihar have bicameral

legislature.

(2) U.P and Haryana have bicameral

legislature.

(3) Bihar and Assam have bicameral

legislature.

(4) Bihar and Punjab have bicameral

legislature.

132. During Indian National Movement,

who gave two nation theory ?
(1) M.A Jinnah

(2) Sardar Patel

(3) Liakat Ali

(4) Subhash Chandra Bose

133. Suppose a country of 1000 people has
income from primary sector is
T 15000, secondary sector is ¥ 20000
and total national income is ¥ 50000.
What will be per capita income of the

country ?
(1) 85
(2) 20
@ 35
(4) 50

NTSE(Level-1) Exam. Nov. - 2016
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184, A bank manager Mr. MNeeraj Kumar

135.

136.

sanctioned a loan of ¥ 250000 to
Mr. Brijesh Kumar for his personal
use and asked him to submit his
latest salary slip and photo 1D proof.
What type of this loan is called 7

(1) Secured loan

(2) Unsecured loan
{3) Collateral Security
(4) Demand Deposit

Which of the following statement are
true about MREP ?

(a) A seller can sell the products at
MREP.

(b) A seller can eell the product
below MRP.

(e) A seller can sell the products
above MRP. '

(d) MRP has no significance for
seller.

(1) a, b
(3) a,¢c

(2) b, e
(4) e d

Mr. Anil Kumar purchased a house of
T 10 lacs, a car of ¥ 4 lacs, a sofa set of
? 50 thousands and an air conditioner
of T 30 thousands, What amount will

be called hiz investment in economie
terms ?

(1) ¥ 14.80 lacs
(2) T 4.80lacs

(3) T10.00 laca
(4) T 14.00 lacs

NTSE(Level-1) Exam Nov. - 2016
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137. A sugar mill owner purchased

140,

sugareane from farmers,

manufactured sugar from it and than
sold it to wholesalers. Such kind of
activities comes under :

(1) Primary sector

(2) Secondary sector

(3) Tertiary sector

(4) Service sector

Which of the following is an economic
activity ?

(1) A teacher teaching his son.

(2) Reading of a poetry by a poet
before his family.

- (3) A farmer works in his field.

(4) A nurse serving her child at his

home.

. Mr. Mehta is an industrialist and he

earns profit from his occupation. This
profit is received by him due to his :

(1) Entrepreneurship
(2) Capital

t3) Land

(4) Money

In Indian economy, prices of
vegetables are determined by :

(1) The government

(2) The producer

(3) The market forces

(4) The capitalist
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A bus moves over a straight level
road with a constant acceleration a. A
boy in a bus drops a ball outside. The
acceleration of the ball with respect
to the bus and earth ave respectively :

141

() aand g

(2 atgandg-a
(3) yjt:lg+g:2
4 ya®+g® anda

. From an elevated point A, a stone is
projected vertically upwards. When
the stone reaches a distance h below
A, its velocity is double of what it was
at a height h above A. The greatest
height attained by the stone is :

and g

h 2h
(1) 3 (2) 3

5h
@ - 4

A block of mﬁss m is suspended
through massless spring balance as
shown in figure : '

143.

(1) The reading of A is greater

than B A

The reading of B is greater
then C 8

@

(3)
4

The reading of A is maximum

The reading of A, B and C are ©
same m
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144,

146.

If momentum of a given mass of body
18 increased by n% then :

(1). The kinetic energy of body

changes by 2n% when n<5

(2) The energy of body
changes by 2n% when n>50.

(3) The
constant.

(4) The

constant.

kinetic

kinetic energy may be

kinetic energy must be
A piece of wood is floating in water
kept The bottle is

connected to an air pump. Neglect the

in a bottle.

compressibility of water. When more
air is pushed into the bottle from the

- pump, the piece of wood will float

with :

(1) Larger part in the water.
(2) Lesser part in the water.
(3) Same part in the water.

(4) IWiJl sink to the bottom.

The weight of an empty balloon on a
The weight
become w, when the balloon is filled
with air. Let the weight of air it self
be w. Neglect the thickness of balloon
when it is filled with air. Also neglect
the difference the density of air inside
and outside the balloon :

1) wy< vfl +w

(2) w,

(3) wy>w,+w.

spring balance is w.

=w;tw

@) wy<w,
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147. A sphere 'A'

148.

149.

18 placed at frictionless
table, Another sphere 'B' is suspended

as shn_)wn in figure. Both the spheres are

identical in all respects. Equal quantity

of_‘ heat is supplied to both sphere. All

kind of heat losses are neglected. The

final temperature of A and B are Ta and
respectively, then -

HOR ;
(1) Ta=Ts
(2) Ta<Ts

(3) Ta>Tg
(4) data is insufficient,

A thin symmetric double convex lens
of power P is cut into three parts A, B
and C as shown. The power of :

(1) AisP,BiaE»

@) Ais 2P, Bis 13’-

(3) Ais B,Bis 2
2 4

(4) AisP,Bisg

Two points P and Q lie on either side
of an axis xy as shown. It is desired to
produce an image of P at Q using a
spherical mirror with xy as the optic
axis. The spherical mirror must be :

: B :

g Q. X

Converging and positioned with

left of P
Diverging and pbsit:ioned with
right of Q
Diverg'i’ng
Converging,
right of Q

(1
@)

@)

(4) positioned to the
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150,

151.

152.

3

If water at 0°C, kept in a open

placed in a large

evacuated chamber, then :

(1) All the water will vaporise.

(2) All the water will freeze.

(3) Some of the water will freeze.

(4) Ice, water and water vapour will
be formed and reached
equilibrium at the triple point.

container s

N identical cells are connected to

form a battery, When the terminals of

the battery are joined d..'irectly,

current I flows in the circuit. To

obtain maximum value of T -

(1) All the cells should be joined in
series

(2) All the cells should be joined in
parallel

(3) Two rows of N/2 cells each should
be joined in parallel

(4) N rows of YN cells each should

be joined in parallel given that
VN in an integer.

Incandescent bulbs are designed by
keeping in mind that the resistance
of their filament increases with the
increase in temperature. If at room
temperature. 100W, 60W and 40W
bulbs have filament resistance R4,
Rgy and R,y respectively, then the
relation between these resistance is :

1 1 1
(1) = + ;
Pioo Ry Rg
(2) Ryoo = Ryg+Rgy .
1 S 1 1

>
Bioo" Rgp = Ry
(4) Rygp > Rgp > Ry
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[ by dinsslving 4g NaOH in 100 liteo of AR A e T e b, @ pH
walor in ; UL
(1 2 14 (1 13 @ 14
12 4 11 (G 12 4y 1l

NTSE(Lovel-1) Exam. Nov, - 2010
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| ' 167.
7. An atom of an element (X) has its K, -

L and M ghells filled with some
electrons. [t reacts with sodium me tal

to form a compound NaX. The
number of electrons in the M shell of

an atom of element (X) will be :
() 7 (2) 8
(3) a 4) 1

1568. An element which shows allotropy
when burnt in sir gives a gas with
characteristic smell. The gas turns
blue litmus red and is used ae an
insectimde. The element is :

(b C
@ N
(3) P
1) 8

159. Whach natural indicator (acid-basa) is
used in kitchens of our homes 7

(1) Sodium chloride
(2) Tea leaves
(3) Sodium carbonate

(4} Turmeric

160. Which aof the following statement i5
correct  regarding metals and
non-metals 7

(1) All metals are brittle.
(2) All non-metals are ductila,
(@) Generally metals are ductile,

(4) Non-metals are good conductor of
electricity.

NTSE(Level-1) Exam. Nov. - 2016

158.

159,

160,

m 7 - a8
{3 2 (1) 1

o e o TR SR F R
# oo W e g oaw oo

s & ar hg 4@ Fewm @ oaw w18
A 1 3 o Tl

H A BRI TEAE S

(1 C

@ N as
(3 P

4) 8

=8 ¥ dw e g 16

(F=-811) & S it
TR B R 7 T

(1) ey wme
2) = o

(3) Wity s
(4) =
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o Coal is called fossil fuel boenyse «

(1) In future coal will
completely exhausted,

(2) 1t was formed 300 million YeArS
ago.

(3) Fossils are obtained along with
mining of coal,

(4) It was formed from the dead
remains of living organisms.

become

162. An organic compound Butanal has

functional group :
(1) Aldehyde
(3) Alcohol

The compound containing both
covalent and ionic bond is :

(1) MgCl: (2) NH.CI
(3) Ca0 (4) AlBr,
164. Match the following :

(2) Ketone
(4) Amine
163.

Column - 1 Column - 2

(A) Strongest (i} Thallium

agent in solwtion

redusing

(B} Showsinert pain effect () Cassium
{C) Forms peroxide on (i) Lithium
heating with excess of

air

(D) Used in photoelectric (iv) Sadium
cells

(1) Aiv B-ii C-i D-iii

(2) Ai Beiv C-i D-iii

(3) A-ii B-i C-iv Deid

4) A-in Bui Ci Dev

vel-1) Exam. Nov. - 2016

(51)

161.

162.

163.

164.

A

fai @ deed o gl oA Y,
i |
(1) o § dv gh w0

A
(@) e et 30 iy W 964 5

o
{:ﬂﬁrnﬂ%w%mmﬂ#r
Fresad 21
() g fim A wf @
Ead & g B
o FEEE T e W SR
e &
(1) iR (2) FEA
(3) e (4) THE
A fret meEd Aw oAt 4
Hﬁl’f*ﬂlﬁﬁ?:
(1) MgCly (2) NH.CI
(3) Ca0 (4) AlBr,
Freifefian & fom &1
Flaw - 1 Fidw - 2
() @i B | owm o dfm
IR

@ T A9 oie REm o) @
3

) R & W W g ot
T W TRalleEEe '
A &

oy wEq Bga i # w@ gy e
gl &

(1) A-siv B-ii C-i D-i

(2) A-di B-iv C-a D-iii

(3) Adil B4 Ceiv D

(4) A-il Beii Ci Deiv

P.T.0.
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166,

167.

166. One mole of MHa moans

(1) 2.24 litre of NH; gas at STP

(2} 1.7gof MH;

(3) 6.023 x 10° malecules of NHa
(4) 34¢ of NHa

Rutherford's alpha particle scattering
experiment fior
discovery of -

was responsible

(1} Electron
{2) Atomic nucleus
{3) Proton

(4) MNeutron

If the saliva is lacking in salivary
amylase then which of the following
processes taking place in the buccal
cavity will be affected ?

(1)

Proteins breaking down

amino acids

into
(2) Starch breaking down into

sugars

(3) Fats breaking down into fatty

acids and glycerol

{4) Intestinal laver breaking down

leading to ulcers

NTSE(Level-1) Exam. Nov. - 2016

(52)

165, qﬁﬂﬁNHsﬂmgi

166,

187.

(1) 2.24 HET NH; T8 STP 9
(2) 1.7g NHa &
(3) 6.023 x 10 3] NHy &

(4) 34g NH: &

wE & AEE FO B W e g
Fre @ R 7

(1) F@HRE

(2) T A

(3) HEH

{4}3&3;1?

o W § W e # owi Eom

P 8 & 0w @ F @ s
Lo O

(1) ﬁmwmwﬂm

(2) = & el § g

(3) T | ol oSt o el
T

W‘]"ﬂfﬁqqﬂﬂgﬁfﬁgﬁwiﬂ
T
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168.

169.

?t has been found that people living
m very high mountaing have many
more RBC's in theip blood than
people living in plains. Which one of
following reason is correct ?

(1) The cold climate stimulates the
production of RBC's to keep the

bodywarm.

People of high mountains breathe
more quickly.

2

(3) The low air pressure requires
more RBC's to supply oxygen to

Body's cells.
(4)

The low air pressure in high
mountains speeds up the blood
circulation so that more RBC's

are needed.

Which of the following gives the
correct sequence of the composition
a reflex arc ?

(1) receptors — muscle — sensory
neuron — motor neuron —» spinal
cord

(2) receptors — motor neuron -
spinal cord — sensory neuron —

muscle

— spinal cord -

(3)

receptors
sensory neuron —» motor neuron

— muscle

receptors —» sensory neuron —
spinal cord - motor neuron —

(4)

muscle

' NTSE(Level-1) Exam. Nov. - 2016

(53)

169.

(2) &9 qddl d T Fed-oTedl | A
4

3) P arg EmE @ T B et
o o omgfd & fore e et
T PR B SEvgEHar e 2|

) ¥ &F | P arg e A/ @
we (WREe) @ dig B F R
IhF T W Ffmer &
HETIH BNt &1 -

P A & A s S 3 ot ()
% w0 27

(1) &@r@»q‘i‘aﬁ:ﬂ—»ﬂmﬁ%a
AT A - W 3T

@ R o Wex = - W 3
—bm%—ﬂﬁ'ﬂﬁ?ﬂ

@) RAed - wgw 3 - ¥
T - Hie A - wresh

(4) RAed > & =N > wEew
ﬂ?l‘i—ﬂh‘d’(%—bﬁfﬂﬁaﬁ

P.T.0,
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171.

172,

. The offsprings formed as a result of

sexual reproduction exhibit more
variations because -

(1) Sexual reproduction is lengthy

Process,

(2)

Genetic material comes from two
parents of different species.

()

Genetic material comes from two

parents of same species.

(4)

Genetic material comes from

many parents.

The sex of a male child is determined
by which of the following 7

{1) The Ilength
pregnancy
(2) The length of time

ovulation and copulation

{(3) The

chromosome

of the mother's

betwesn

presence of an X

(4) The presence of a Y chromosome

According to the evolutionary theory,
formation of a new species is
generally due to :

(1)
(2)

Sudden creation by nature,

Accumulation of variationg over

several generations,

(3) Clones formed during asexual

reproduction.

Movement of individuals are
habitat to other.

(4)

NTSE(Level-1) Exam. Nov. - 2016

(54)

170, G R B oW A dim

171.

172.

Rfir=mrd wefife #0 & =i
(1) A so we e

(2) R asfe & m-fom & S9fe
e e B

{ﬁ}ﬁﬁﬂﬁﬂﬁqﬂ-ﬁmﬁfﬁﬁ%
qad S B

(4) wga @ R & AfRE
o &

P & & PoeR E0 0@ W T W
Rt Pt e B 7

(1) g i # w E A

(@) #em P v RgT @ @@
gt |

(3) X TTE # IviEf 8

(4) Y TrE ® I |/

S Peew @ & omEn T Ed
w P w9 8 B g 8
i A

(1) wofy & avers gie Fefor &)

@ % g 75 Riemsd § ofm
i

(3) AE T T aNE g G

(4) 9 F o gRE WA A g W
T H

Scanned by CamScanner



118, The pH of a sample of yae, collecteq
from a river ig found tg by 46 to 4.5
The most likely reason for this iy the

waste being discharged ingq the river
from

(1) Soap and detergent

manufacturing factory.
(2) Car battery manufacturing factory,
(3) Alcohol manufacturing factory,

(4) Plastic cups moulding factory.

174, Belect the correct anawer about

manure ;

{a) Manure contains large quantities

of organic matter and small

quantities of nutrienta.

(b) It increases the water holding
capacity of zandy seil,

() It helps is draining out of excess
of water from clayey soil.

(d) Ita excessive wuse pollutes

environment because it is made

of animal excretory waate,
(1) adke
(2) a&b
(3 b&ec

4) c&d

NTSE(Level-1) Exam. Nov. - 2016

(55)

174.

A

8. @& 7 3 @ PR m o F A

pH 35 & 4.5 gy ) Py & P &

R G C el

g ?

(1) w57 7 fevde Pl &0 2
fat 4

@) Fi & d=h g o B
(3) UFRES P &0 gt S A

(4) wftes &1 B G FA AR
b A
o & el ¥ mel o & g w

(a) BE ¥ ofts o & s w7
W AR 9N o E B

(b) T8 T T & e A% # e
T k|

() 8 Todell a1 A B ol et
# ez Fad by

(d) 390 ¥EEE T AEE &
wof F ¥ o o gt @

v o e @l ad
(1) aT™ic
(2) a®™™b
(3) b
(4) efrd
P.T.0,

e
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178.

176.

177.

178.

- 12)

Plasmolysis in plant cell ia defined
A :

(1) Breakdown of plasma membrane

in hypotonic medium.

Shrinkage of protoplasm in
hypertonic medium.

(2)

(3)
(4)

Shrinkage of nucleoplasm,

Breakdown

membrans,

of

nuclear

Tissue found in ares of regular wear
and tear is :

(1} Simple squamous epithelium.
(2) Stratified squamous epithelium.
(3) Simple cuboidal epithelium.

(4) Stratified :ubu_:ril:lnl epithelium,

Phylogeny is the study of one of the
following :

(1)

Development of an individual,
Evolution of species.

(3) Embryonic development of an

Organ.
(4) Ecological. adaptation of

Organism.

an

Duckbilled platypus and echidna are :
(1) Reptiles

(2) Eutherian mammals

(3) Egg-laying mammals

{4) Young one producing animals

NTSE(Level-1) Exam. Nov. - 2016

(56)

175. mﬁmmﬂm%

176.

177.

178,

qfvsnft R o & -

(ljmﬁﬂmwﬂmﬁﬁﬁy
|

(@) eRTErE e A dwmm g
s |

(3) e F EgE

(4) ~IRRTET R @ g

Fafe - @ &% 7 Fe &
am |

(1) \RY e e
(2) TEwiE wREvE odffe
(3) TR e ol |
(4) TEwiT Fqetasm ol |
M= B OF W e EEee )

1 % T w5
(2) =hei & Fre

(3) 9% &7 & yoitg fem
(4) %?ﬁﬁﬂﬂﬁmﬁﬁw|

5% e Qv ol oo € -
(D Wiy

@) FhRE warh

(R 3 S -

@ g b 3 @ org ]

s,
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(57)
179. Which of the following is mismatch 7 179, fr & @ B & 7
(1) Leprosy - bacterial infection (1) P - oA
(2) AIDS - bacterial infection (2) TEH - Ay W
(3) Malaria - protozoan infection (3) e - sttt R
(4) Elephantiasis - nematode infection (4) TSR - Feers S
180. Ozone hole over antaretica appears 180, a8 areied & Fea 0
during : 2
(1) Spring (1) T
(2) Summer (2) fe #
(3) Autumn (3) T A
(4) Winter (4) it A
18l. The sum of the m:illE’Tnululn&' the 181, whwT %:+%+l=ﬂ L
mntunftheequatiun-iﬁ:+;+]=ﬂ Egﬁ#ﬁﬂl‘la'-'
is
o g m oI @2
@ -1 1 (3) -1 (4) 1
182. If »® + y = 2249, where x and y are 182, A < + y = 2249 8, 7 x o7 5 T
natural numbers and HCF of x and y emt § AT x a9y B 9.9.9. (HCP)
is not 1, then the value of (x + y) is - 170, T (T AR
1) 26 @ 39 () 2 2 3
(3) 52 (4) 65 (3) 52 (4) &5
188, If o=y6-vil and b=vBryal 183, M a=y6-JII N b=v6+v11 2 A
then the value of (o + b) is : @+b) WA & :
(1) V22 (1) V22
@ 211 @ 211
@ 6 | (@ 6
4 iz 4 12

WM8E(Level-1) Exam. Nov. - 2016 P.T.O
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184,

185.

186,

1B7.

It 20 -2ab+b2 +6a+9=0
la + b) + ab equals :

(1) 1
{3 3

, then

(2) 2
() 4

The sum of all the terms common to
the arithmetic progressions
1;3.5, 1111111 1 19&1 ﬂ“d llﬁjli-. Rk

139200
199300

{(4) 200196

The number of real solution of the
pair of equation x + 3 + 2y = 19 and
F+y:=25ia;:

(1} 1
(2) 2
(3) 3
(4) 0
If p{x)=ax? +bx® + cx-11, where q,
b and ¢ are constants and

p(1042) == 32, then p(-1042) is equal
to:

(1) -10
@
(d)
(4)

-12

10
32

NTSE{Level-1) Exam. Nov. - 2016

(58)

184,

185,

186.

157.

afr ag2 ~2ab+b% +6a+9=0 %'.. i
(a+ b) + ab TAT &

(W 1 @)=
(3) 3 (4) 4

A AfE 18,5, .. 1991 8
1,8 11, 1001, # @t 99 o 5

A &
(1) 199100

(2) 199200

(3) 199300
(4) 200196

THEET TH « + y + xy = 19 dy
<+ yt=25% anafes wot & du b

m1
(2) 2

(3 3
(4} 0

MW plx)=ax? +bed yox-11 ¥ =
a, b 3T e 57T ¥ ST p(1042) = - 32 }
T p(-1042) TR §

(1)
(2)
(3)
(4)
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(69) A
188, ﬁﬂ%wwwl.s.am&,ﬁ
A g g WA % et v e g,

188. The faces of a dice are miarked ;r:lh
numbers L1,2455 and that of
another dice with 234566 Both

: 54,5, 6,60 £ ¥ 44 a8 3
ilimtatelhmwnlngetharunﬂe.“’ha: ﬁwﬁwiﬂ?ﬁi’ﬁﬂ
15 the probability that the sum of % o owf vdemd % 0 % owwm 07
numbers on their tops is even 7 1 o e ¥ 7

1 |
) = ']
(1) 6 1) :
| I
iz 1 E @ 1
4 '| '3
9 2
3 = =
(3) B i3 <
4 4
4y = e
(4) 5 (4) -

189, If o’ = comec 6 — sin 6 and b* = sec § — 189. o' = posec 6 - sin 6 H7 b = see b
cos B then the value of o*F* + o*b* 15 - mﬂ%,ﬁn‘b’*ﬂ‘h‘ﬂ‘ﬂ%l
(o (1 0
2) 1 21
(3 2 (3) 2
(4 2 (4) 3

190. When the decimal point of a certain 190. = #Fl vres e 9= e
positive decimal number is moved | ﬁ’gﬂiﬂﬂ"!—]ﬂﬁmﬁ,
two places to the right, the new ™ # T, wes dem w wes
number is two times the sum of the I T AR a
original number and the reciproeal of %lmm#uamg;
the original number. The product of
42 and the original numbers is :

(1) 3 1 3
(T 6 Z) 6
@ 7 (3 7
4) 14 @
"ISE(Level-1) Exam. Nov. - 2016 P.T.0.
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192.

193.

v regular octagon is formed by
cutting an isosceles right (riangle
from each of the corners of a square
with side 15 em. The area (in em?) of
the octagon is :

(1) 15(242 -1)

@) (15)%(2v2-1)

(3) 15(2v2 - 2)

() (15)*2V2-2)

The length (in em) ui"_sidea of a
triangle are positive integers. If its
perimeter is an odd number and the
difference of length of two sides is

11 cm, then the possible length of the
third side is :

(1) lp cm
(2) 11cm
(3) 12em

(4) 13cm

In A ABC, D and E are the points on
BC and AC respectively. If AD and

: AP
BE intersect at P such that DB

BP .
d = =17, than CD : BD equals :
and = :

1) 5:7
(2) 5:16
@) 3:17

() 3:20

NTSE(Level-1) Exam. Nov. - 2016

(60)

191.

192.

193.

(D) 5:7

T

poa azonld

lﬁcmwmﬁqzﬁﬂ‘i@miﬂ%ﬁ
w Tl aweer R R, o
1 S a6 | §H ST
ﬂﬂtﬁﬂ(cmiﬂ)%: .

.

(1) 16(2v2-1)

@ (5)%2V2-1

@) 15(2V2-2)

@) (15)22V2-2)

o P @ el @ S (em )
e iR A €| 3 e A o
R g & o 3 gemell @ e

Wmllcnaﬁ,ﬁiﬂqﬁ?ﬂ'ﬁ'ﬂﬂw
# {g e @

(1) 10cm
(2) 1lem
@) 12cm
(4) 13cm
B ABC, § %1 BC &R AC W

#9q: D a1 E &g &1 3R AD it BE
QT P Y 36 YEN Ao il g, &
AP BP

T~ —= CD.: BD
e saﬁ'{EP 2,
T &

(2) 5:16

(3) 3:17

4 3:20
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184

In a parallelogram KITE, £KIT = 75*
EA LIT, KA and EI intersect at B

. where A is a point on IT. If EB = 2KI,

then the measure of ZHBE is
(1) 620

(@ es°

195.

1896,

197.

(3) &8°
(4) 70°

The sum of all interior angles and one
exterior angle of a convex K-sided
polygon is 1350°, the value of K is :

(1) 7 (2} 8
(3) 9 {4) 11

The length of the parallel sides of a
trapezium are 14 cm and 7 em. If the

length of third side is & ¢cm and of

fourth side is x cm, then the number

of possible integral value of x is :
(1) IZ (2) 13

(4) 14 (4) 17

If an arc subtending an angle of 75°
at the centre of a circle A and another
are aubtending an angle of 55° at the
centre-of circle B are of same length,
then the ratio of area of circle A to
that of cirele B is :

(1) 11:15
(2) 11:25
(3) 121:225
(4) 121:625

I-1) Exam. Nov. - 2016

(61)

A

194, WA TEEA KITE, § ZKIT ="75° &0

186,

196.

187.

IL%LIT,E&WEIW&EHTM

w0 ¥ oo fig A o IT W R B
7% EB = 2KI, @ <KBE® 71 ¥ :

(1) 62°

(2) 65°

(3) e8°

(4) 700

K 91 @ 0% I 49 B

Tt U U afes & o4 1350° E,
K& 9F §

(1) 7
(@ 9

R mwete 8 A el 9w
]-tumﬂ?ff_'?nmglﬂﬁﬁfﬂ'ﬁﬂﬂﬁ
MBm?GﬁTﬂfﬁﬂﬂTaﬁﬂﬁﬁ
xcmtﬁu%ﬂ‘ﬂfﬁﬂqﬁéi

(2) 8
4) 11

(2) 13
(4) 17

I U W OH e W g A G aw
T 75° F F:7 o0 wedt & ol
GG a R weE, A gw B R dw
55° & EW Haftg s ¥ ot e
€ qu A% ¥ 71 79 B @ dww

A o ¥
(1) 11:15

(1) 12
(3) 14

(2) 11:25
(3) 121:2%5

(4) 121:625

P.T. O,
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1494,

re, P QH‘. 18 1 somicircle and
ABCD is 0 square of side x em, if the
aren of the shaded parct is (57 ~ 8)
em?, then the volue of xin:

(62)

108, oTR 7 PQR ©F T ¥ T ABgy

o o b FE T oxoem By ogp
B A A AR (5%~ 8) ems, }
8 X OAA S

(1) 22 (1) 22
(2) 4 (2 4
'y P A [}

3 442 i 3 4v2
(4) 8 (4 8

199. In & ABC, D and E are the point on 199. A ABC % B D &R E #7191 AC &y
AC and AB respectively. BD and CE AR 97 fem #1 BD #T CE T F oy
intersect at I, 1f the areas of AEBF, oy FE Bl AR ﬁﬂﬁ EBF, BFC
ABFC and A FDC are 10 cm?, 20 cm? #T FDC & &A% &M 10 om
and 16 cm? respectively, then the 20 cm? AT 16 cm? %, il ﬂﬂ‘iﬁ AEFD
area (in em?) of quadrilateral ARFD AT (cm? ) ¥
18 : : '
(1) 34 (1} a4
(2) 38 (2) 38
(3) 44 (3 44
(4) 48 (1) 48

200. A right cireular eylinder whose 200. TF wW gim ¥ Frwm amw ol
diameter iz eqgual to its height is O & ey b T §% gl 9% b
inscribed in a right circular cone of Al B o HYT W &AME 16 em
base diameter 16 cm and height 3 G Tﬁlﬂ' A % o A f-:'ljﬁ[ 2=
times the base diameter, The axes of I F o T dg & sfay o
‘both solids coincide. What is the CLolc oy G S l[l:m“'ﬁ% .
volume (in em?®) of the solid inside the .
cone but outside the eylinder ? .
(1) 296 n (1} 296 x
(2) 512= (2) 512n
(3) 432 = # (3) 432«
(4) 592Zn {4) 5925

NTSE(Level-1) Exam. Nov. - 2016

T

Scanned by CamScanner




i qFE
& m‘:ﬁ:ﬂ;ﬁﬁi@m o wen 4, o
frearan T R

o @ ® @
mmﬁmnmﬁmwm.ﬂﬁwmﬂ
wﬁﬁﬁﬂmﬂmﬁz:
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uﬁwﬂmmﬁm‘lmtﬂﬂa\mmm
T S|
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1u.mﬁmuﬁ$ﬁ=|QEQnﬂmﬁﬁ=ﬂﬁﬁuﬁn
w%momwmmmww
ﬂﬁ{ﬂmﬁ/aﬂﬂﬂamhﬂﬁ|
wmwmmﬁﬁmﬂﬂm#&m
s B
11mﬁgﬁﬂﬂﬂﬁﬁsﬂmmﬁw=rm

| areefl e

ford |

12. wen R IR TAS A E i @, i
Mﬁqﬂﬁcffﬁﬁ@zﬂqﬁm @ IR T B
mﬁﬁﬂmﬁmﬁﬁmﬁ)gﬂ#mjﬁﬂﬁ
e wver 7€ Fearg e

13 qﬂmgmfmmﬁmﬂqﬂﬁﬂmuﬁaﬁ
@ et o A R

14.Mﬂmm/m#maﬂé$mﬁmfaﬂﬁ

A B

1&.ﬁvﬁmﬁqﬂmgﬁammmmmmﬁm
e A W

19.mﬁmﬂﬁﬁm.mﬂ7ﬁm/ﬂﬂmﬁﬂ{#w
mm—uﬁmﬁmmiimﬁaﬁwyﬂ

e qRera 31 A o T E

20, s ¥ e B A et @ R PR s <A
$ wafr g s agwm A AR B
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